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2 Amir has 10 cartons of juice.

|  Inabox

! of the apples are green.

4
+ The rest are red.

There are S green apples.

How many apples are red?
Each carton holds 2 litres of juice.

. . How much juice is in 7 cartons?
7x2=N
. . 5x U4 =20 7 cartons hold |4 litres of juice.

20-5=1I5
White

IS apples are red.
Maths
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| On abookcase 2 Amir has two cartons of apple juice.

. % of the books are fiction books.
+ The rest are non-fiction.
+ There are 72 non-fiction books.

How many books are fiction? He shares all the juice equally
3 between these glasses.

Non-fiction = 8 1,750 - 5§ = 350

2 52 120 @@@@ﬁ

120 books are fiction. How much apple juice does he pour

into each glass?

He pours 350 ml into each glass.
Maths



